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All answers should be written on the ANSWER SHEET.

FHEED -

5 4 77

Section A — each question carries 4 marks

1)

2)

3)

4)

S)

6)

7)

8)

L1 ERETE AR - IS B R 5/ P AR 2

Figure 1.1 is formed by 2 squares. What is the area of the shaded area in cm??

16 cm

10 cm

1.1
Figure 1.1

SR 234 ~ 276 F1 330 AR A AR -
Find the highest common factor (H.C.F.) of 234, 276 and 330.

KELTHEHE -
Find the value of the following expression.
111111x666666+12345654321

2K 2017 HIFTA IENELZ A -
Find the sum of all positive factors of 2017.

F=(rBBREL 2 ~ 3 507 P —(EEEER | - Pz = 8m NeZ /D ?
The remainder of a three-digit number divided by 2, 3 or 7 is 1. What is the smallest value of the
three-digit number?

(S 3 ~ 4~ 6 ~ 8 A =1fr¥ - A ASHRC S M2 A B R iy = (i 8 2
Form a three-digit number using the numbers 3, 4, 6 and 8. How many three-digit numbers without
repeating digits can be formed?

17
I e 9
34290* 262y | b HERER
: . 17 13
Which number is larger, or ?

34290 26248

[ 9831 FHEEEGKE ? (GFEZER LS L TES, /T apd#L )

Is 9831 a prime number or a composite number? (Write down “Prime”/“Composite” on the answer sheet)

~ HE5E ~
~ End of Section A ~
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All answers should be written on the ANSWER SHEET.

LER RS o
Section B — each question carries 5 marks

9) 3R 12°x45°x78° &1L 10 BIEREL -
Find the remainder when 12°x45°x78’ is divided by 10.

10) KLATNHEAAIE -
Find the value of the following expression.
611x%+4llx i—811—>< 7
23 3 4 7 8

11) KLU REAYE -

Find the value of the following expression.

111 1
371 1T T
5 1 1
7 1

9

12) FEEVUR > NIRRT 58 T > AR HEIRAPHEEL /DI 47 7T > T LB ARAVEEZ
B Mt S S R ATE% /0T ?
On the first 4 days, Mickey spends 58 dollars each day in average. To make the average spending in five
days less than 47 dollars per day, and the spending on the fifth day is an integer, how much at most can
he spend on the fifth day?

13) 12345 f (HUfE 1 f1345) » HE/EET ] LA 7 5 19 Bk

Between 1 and 345 (1 and 345 inclusive), how many numbers are divisible by 7 or 19?

14) & 14.1 A2/ ERTTIE ?

How many rectangles are there in figure 14.1?

14.1
Figure 14.1

15) 10.235 (L B508 -

Convert 0.2 35 into a fraction.

AR AERE R - Bt EERE D HEERM - WHER /R T EEGT 8 SRt RS RN -
EERALIMRAZFOR - MEZARA AR R - FREE RIS - FREE R -SSR A G TR I8 -
Write down the answer in the simplest form. If the calculation result is a fraction, please write down the answer as a proper or mixed fraction,
decimal figure is also accepted. You may use square root to represent the answer which is in the simplest form.
Unless otherwise stated, no need to write down any unit. Marks will NOT be given for incorrect unit.
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All answers should be written on the ANSWER SHEET.

16)

16.1 tft » SPATIUIE T ABCD HYHEFE/E 240 “F-J5EDK - 1 £ ~ F 73 5lE AB ~ AD HyEs - 28
RS % T JEK 7

In figure 16, the area of parallelogram ABCD is 240 cm?, E and F are the mid-points of 4B and 4D
respectively. What is the area of the shaded part in cm??

A E D

B C
16.1
Figure 16.1

~ LER5E ~
~ End of Section B ~

ED © T oy
Section C — each question carries 7 marks

17)

18)

19)

20)

HENEEZEN 2 % > R A 3 E - AIZm T VER  READ 7TIRERE > AllgES
REE - MAESIIRERE?

The number of bananas is twice of oranges. If each person gets 3 oranges, 1 orange will be left. If each
person gets 7 bananas, 5 more bananas will be needed. How many bananas are there?

KU EAAE -
Find the value of the following expression.
1 1 1 1 1
+ + +...+ +
7x9 9x11 11x13 17x19 19x21
— R FHERTRIEE(E 117 7T - AR AMEE TEBAY - B/ N RAYER FAYEEZ EEfER1:4 5 R NAH

TIERA > B/ NMERVER FHISEZEE(EE1:10 © FIfIRREHAEZ DT ?

The selling price of a model plane is 117 dollars. If Joe has bought the model, the ratio between the
amounts of remaining money he and Fanny have will be 1:4 . If Fanny has bought the model, the
amounts of remaining money she and Joe have will be 1:10. How many dollars do they have in total in
the beginning?

HIEZAE > ERN27+n ~ 324+nf1411+n —{HRFAVERELZALE 12 > K n AYRAE
For a natural number n, it is given that the sum of the remainders for the three calculations 127 +n,
324+n and 411+n is 12. Find the largest value of n.

~ BT ~

~ End of Paper ~
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